Day 5.notebook October 31, 2018

4-4 HW Answer Key
b +-/b*—4ac

2a

1 x=

2. b*-4ac

3. 2 complex solutions
4.1 real solution

5. 2 real solutions

6. discriminant = -324; 2 complex solutions; x = £9i

7. discriminant = -104; 2 complex solutions; x = %i@
8. discriminant = 16; 2 real solutions; x = 3, -1

9. discriminant = 0; 1 real solution; x = 2

10. discriminant = -56; 2 complex solutions: x = gi%
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Name K(’LH Alg 2 Homework 4-4
ot
_ 4+ [P Jac
1. Write the quadratic formula: )(“" T ——

A0

o
2. What is the discriminant? b - l?/ﬁc
n
3. If discriminant is negative, what kind of solutions do you have? t:Q (;thf?&’)c JO/W j

4. If discriminant is zero, what kind of solutions do you have? / f{"{?/ SO /U//‘-"I’ ?

L f@ /
B. If discriminant is positive, what kind of solutions do you have? rﬂ) /e f" ”; g

For 6 - 10 do the following:

1. Compute the value of the discriminant of the quadratic equation.
2. Use the value of the discriminant to predict the number and type of solutions.
3. Find all real and complex solutions.

6.x°+81=0 7.3¢°-4x+10=0

= ~37Y =~/04/

d. a Cffm/?&’% Jbloront Q. Q (amplex Jolotiin]
3 K= O+ !33‘7 3.y 5‘_’{”\);_
’ 2(1) EON
= Hde =Yty //7}2\/‘
2 L

(Con‘rinuJLn next page-»)
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8.x*-2x-3=

. b2y é’ UI)(-3)

2 2 rm/ JO/J/N/’?”? f

3. x= 21 e
1) o
o2 ezl OV

9. x*+4:=4x -*L{-}(‘I L!*: C)
| bPyac= 15 00

Q. | recl JOHSTTED

10. 9x - 9x*= 3+x + %

0= /o,ﬁc ~§X AT

| b2 yple bY- 4 70)(3)
- =5
Q. o Camplex (017700
2, X= 82 )s0 o
_g,m S‘Eﬂtbﬁygj
N T LR AL

Y T 20 /0



Day 5.notebook
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1. a) 4+ 9i b)20 + 3i c) 3 + 10i
2.a) 11 + 41 b)6 + 22i ¢) -17 - 17i
3. 26, which is a real number
4. 13i, which is an imaginary number
5. a) 20i b)8 c) 8 + 20i
6. i: -1
7. i*z1and jommultof 4 = 4 g janypower=j -1 -j or 1
8. -1,-i,1,i,-1 13. 15i.J6
9. iyr 14, -42
10. 10i 15. -2./30
11. -12i 16. -3i.f10
12. 4i.f5 17. -19
18. 30 - 4i
19. -6 + 29i
20. 51+ 18i

21

xZ + 25

October 31, 2018

d)5 + 3i

22. See diagram in slide
23. x=6,y=9

24. Diseriminant = -80

_[ 1 5]
Answer = J[—EiTj
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Review Algebra 2 Unit 4 Day 5

1. Find each of the following sums and differences.
a) (-2+7i)+(6+20) = LI-“\‘C;' L b)(B+4i)+(12-1) = ‘QO + 3L

a6+3-@-7= 340U 8 (3+5)-(8+20=513|
2. Find the following products. Write each of your answers as a complex number in the form asbi,
a) (3 +5i)(7 +2i) _ ) b) (-2 + 6i)(3 - 2i) . ‘; c) (4 +iX-5 - 3i)
=1 LIRS IOV ==L+ HEL -/ = —a0~/a i -5L -3L7
= @l + -0 = -l +oar /e = ~50- —17Lt3
= L), = (p 1 B¢ e 7= 70

3. Show 'rha'r the product of (2+3i) and (4-6i) results in a purely real number.

(2130 Y-toi) = B-Jal H/ai L
| = 94¥

= olp = Kea) It
4. Show that the product of (2+3i) and (3+2i) results in a purely imaginary number.,
(971334 aw) lo +H AT+l >
=W+3~0

<3 = g #

5. Give an example of each number:
a) Pure imaginc::% 4:2 0 L
b) Pure real

c) Complex (not pure imaginary or pure real) ?_{ 5)0 L
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The imaginary number L |s equal to 3} f

6.
oyt 0t
7. Explain th le' of i W..- i
xplain ecycea i 61 ff (i "/, g; gfﬂ{i{ é - )}
- e - il f}d F X R

‘i-; e [ﬂ)} L "/ “'..’ 2y

ér‘- "

e . i
8. What are the values of: fi: - ; EE SR PR ; iz ;'j 0= L -~ ,

9. How do you simplify v—r?2__LV r

Simplify: _
10. +/~100 = }Of
=7 Py 21

12, Wf . iU‘*

13, 5J-54 = bL \[‘Jﬁ = )51 JZ"

14. J-49+.-36+ "I ((0> - %‘J L > _%71

5. (Bedzde LG g o R0 =1 S 270
16, —J/-18.5= “{,\ﬁg \}—- = "L\ﬁa f‘"'i_.J‘? \;‘;}Eﬂ = \Jf \)i.ﬁ

17, (J-19%= V}'

SSERY

Add or subtract the following complex numbers.

18. (22 +7i) + (8 - 11i) = 30 'L/‘L,

19, (2 +16i) - (8 - 13i) = —{p 'f’QQL

Multiply the following complex numbers.
20, o aixo-en= T —18(7 3¢ -dYL"
= g7+ Y
=51l

2t Geesie-ss )25 +5%L-SOLY
- XTHES
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22. Plot and label a complex number in each quadrant and on both axes on the graph below. Be sure to
label the axes.

' F ) L
_gt YL H
a L]
b 04 3L
_ 2+ 1
~U30L ® O
A | o |-23C
¢ 0-5L
23. Find the real values of x and y if 11x + Byi = 66 + 72i. X = v

X=bb Y =7 )

24, Compute the value of the discriminant of the quadratic equation, and then solve using the
guadratic formula.

BxZ+4x+3=0 Disarimfnmfifw
N (_L o+ S
D D) .5

=50 .

L] NS
XY \f f"" T
204 .
— — WS 14
- i.; o+ (:Jgé.’) J‘ - jr_"_"_'____i:__,___.

............... ’; T A %{
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25. Solve the equation 2x° + 5x + 8 = 0. Express the answer in a + bi form.

b? - 4ac = 25 - 4(2)(8) x=22339
22)
=39 o —DEi39
4
X =_—5i@I
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